Buffer pH:   Buffer = mixture of a weak acid and its weak conjugate base
Buffer System:
H3BO4
/ H2BO4-



pKa = 9.14

Acid

[HA]

Base

[B-]

pH
H3BO4



H2BO4-


0.10



0.10



1.00



1.00



0.10



1.00



1.00



0.10

Buffer System: 
NH4+
/NH3



pKa = 9.25
Acid

[HA]

Base

[B-]

pH

NH4+



NH3


0.10



0.10



1.00



1.00



0.10



1.00



1.00



0.10

Buffer System:
HCO2H / HCO2-



pKa = 3.74

Acid

[HA]

Base

[B-]

pH

HCO2H


HCO2-


0.10



0.10



1.00



1.00



0.10



1.00



1.00



0.10

What controls pH of a buffer?

